EAGRAROBREERT — 2 N— IBISH —F

202198168 (K) 13EI&BEE3H

Il C 648 5 R—& (w8 | lmEmml - |5 @) o s
[AE4£] 1% :320,000  ~ 23#&:102,000  ~ 33#&:58,000  ~ 43#&:38,000H” . 5 3&:26,000 ™
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
. EE_ :31. -4-4- . — TEE (BEE)
ilglg|2P177 02> "5 i B R ° o | Ene
A= 770> B:IZUNLTYUCEZR INHINH T 7 — L
= s i 4 | AMHEE 1:32.0 5-5-5-7 | 39.5| — 1 469 |EER (BHE)
EH 6lemzsr—> 5.0 @ o) | EEER
gL LINT Ry TR B bXH HENLR=—95F
S S s 5 | MRS 1:32.3 1-1-1-3 | 40.3| — 3 465 |BEALZ (BER)
3177 729 097—7 54.0 (11/2) -3) KEEET
R:TI7v78%3—K B:I5 T1T7> 1EiE T
By 44 | LB 1:32.4 10-10-10-8 | 38.0 | — 5 473 | TR (BEHE)
s VE—F 54.0 (1/2) Chy | EHE
L:a—-I>59Y> BEXxZg4-—> B Hx
> N o6 | AEER 1:32.4 9-9-8-5 |38.7| — 7 460 | BRC (BHE)
5|l7lg| *T¥aviFEh 56.0 (75%) (o) | ToiTE
R:Gr—3I)F7> BANILF—I ==r¢ ]
S, 0,0 = A2 HiZE :32. —-3-3- . — BEx (BHE
6 NS rs Y it 5 052.6% 1(312)6 2-3-3-6 | 40.3 2 (45; BEL
:Worthadd #&:%5Y =7 AW IS
o N RFRAAER : —7-7- - ATEN (BHE)
71505 TaT—Ky TR 4 5 54% 03?};? 7-7-7-9 | 39.1 10 ::35) gm%m
L:KU—LTv—=— B:TSALFIN— FHE
S5 4t 4 | DEEFIGE 1:32. 3-2-2-2 |40.5| — 9 456 |SBREX (BHE)
8 4|7V KT x—Ya 54.0 (7€) (+5) |SER B
R:IET7RAT7 B:YF/%—Ya EBRTF— L
— NN BRER— 132, —6-6- . - HLEE (BEHE)
ol1l1|*»74=5€EF7>H 411 463 1(33/24)9 6-6-6-4 | 40.3 8 3332) e
iR TA R X BT HBE77— L4
5 ¢ # 5 | FIRRE 1:32.9 8-8-9-10 |39.2| — 4 516 | FFLE— (BHE)
10/ 8|10| F—E>TR/N— 56.0 (56) 45 |BBET
R:bh—t>Ta—4> B:bh—t>/—TN BElREH IXF1T77—L4A
® 1—F—@EBIERL
1T=7r= 7,3,4,9,6,1,5,10,8,2
23— — 7,4,3,9,6,1,5,10,8,2
J§a=7r= 7,4,3,9,6,1,5,8,10,2
43—+ — 9,4,7,1,8,3,6,2,5,10
[ N5
B 9 1,270 714K 6-9 700M e E 6-8 640M JEE 6-7-9 5,000
B B 9 290M 7-9 1,220 B = 6-9 1,840M B 9-6-7 33,420
6 110 6-7 460/ B H 9-6 3,260
7 160/

ARICOVWTRDTEEERROODE. TR LIV,




